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B.Com. (Part III) Examination
Management Accounting
Paper : BC-13

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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(i)

(iii)

(iv)

V)

(vi)

(vii)

Note —

Give two limitations of Management
Accounting.

Yo e i ar HHY SaiEy |

What do you mean by Management
Information System ?

TeRIhd G JUICH 9 39 9 FHe § 2
What is Owners Equity ?

e fed &1 F1 SWE ¥ 2

What do you mean by Trend Percentage ?
Yot gfaerd | 9 w1 THed § 2

What do you mean by Capital Structure ?
ISt TTE F MY T W § 2

What is meant by cash equivalents ?

Jhg T T 1 W § 2

Ratios can be expressed in how many ways ?
Give names only.
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Section-B 4x7=28
(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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flow statement.

. Differentiate between cash flow statement and fund
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. Explain with illustration operating leverage.
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. Prepare statement of changes in working capital

from the following :

Liabilities 3 3

31-3-18 31-3-19
Equity Capital 1,00,000 1,50,000
12%. Debentures 50,000 -
Sundry Creditors 10,000 20,000
Bills Payable 15,000 3,000
Interest Payable 5,000 8,000
Outstanding Expenses 6,000 10,000
Other Current Liabilities 4,000 3,000

1,90,000 1,94,000
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Assets 3 4
31-3-18 31-3-19
Fixed Assets 1,00,000 1,50,000
Investment 50,000 —
Work-in-Progress 10,000 20,000
Stock-in-trade 15,000 6,000
Sundry debtors 5,000 8,000
Loans and Advances 6,000 7,000
Cash in hand 4,000 3,000
1,90,000 1,94,000
freifera | wrdeiel ISt # 9Radd w1 foeron o sy
IR 4 4
31-3-18 31-3-19
qar i 1,00,000 1,50,000
12% =B 50,000 -
fafay @R 10,000 20,000
< fore 15,000 3,000
T AN 5,000 8,000
SR 6,000 10,000
3 =g FwtaaAr 4,000 3,000
1,90,000 1,94,000
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ot 3 3 6. How is cost of debt capital computed ? Answer

31-3-18 31-3-19 with the help of illustration.
g Freft 1,00,000 1,50,000 ®0 ISl B G kA F@ OF S T ? ST A
fferir 50,000 - e § 3w <
S 10,000 20,000 7. Explain features of optimal capital structure.
AT Tafaa 15,000 6,000 U SR TR
fafae 2R 5,000 8,000 8. Explain operating cycle concept of working
capital.
U qen ATH 6,000 7,000 tofie o 7 i
T ThS 4,000 3,000 . o , ,
9. Explain characteristics of sound information
1,90,000 1,94,000 system.
5. Write formula for calculating : IO GEA O & TR G
(1) Maximum stock level Section—C 2x14=28
(i) Minimum stock level (Long Answer Type Questions)
(iii) Re-order level Note .— Answer any two questions. You have to delimit
(iv) Average stock level your each answer maximum up to 500 words.
W F @ g fafen Each question carries 14 marks.
i) st =iE WX wrs—w
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(iii) T: TR =W 500 vr=5i H UREifHa wINT) 98 99 14 3] 6
(iv) ofEd ©fF 'R 7
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10. Select one project from the following by using pay- 11.(1) Current ratio is 2 : 2 : 1 and net working
back period method : capital is ¥ 36,000. Calcuate the amount of
current assets and current liabilities.

Project A Project B ]
e SEAE 2 0 2 ;1% AW Y wEEA gSit
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®) ®) 336,000 ¥ =T¢] SHEl wd A Sifgwl w6
Cost 40,000 50,000 TOMAT HIFSTT
Estimated scrap 4,000 6,000 (i1)) Average stock ¥ 40,000, stock turnover ratio
Estimated cash flow (3) : 8 times. It sales of goods at a profit of 25%

on cost. Calculate gross profit.
Year 1 2 3 4 5 6 7

sira @R T 40,000, i 3T 31U 8 T

T8 AN W 25% o & e S=d &1 Gkl oy
Project B | 10,000 |15,000]15,000 15,000 7,500 | 5,000 | - a FR

SRRt sty fafs &1y #d ge e 3 | T
RIS 1 TG99 iU
st A uREsET B

Project A| 5,000 | 7,500 |12,500|12,500 {10,000 | 7,500 | 2,500

12. Explain with illustration comparative income

statement and balance sheet.

qorTcae 3T faeror 9 fag1 ST <d g¢ §Hes

®) ®) . .
13. Write short notes on the following :
T 40,000 50,000
1) Functions of Management Accountin
A Tafite 4,000 6,000 © 5 5
ST TS TE ) - (i1)) Responsibility Accounting
Year 1 2 | 3 4 5 | 6 7 AR R et faren
Project A | 5,000 | 7,500 | 12,500 | 12,500 | 10,000 | 7,500 | 2,500 () wor TEET % Hr
Project B | 10,000 | 15,000 15,000 |15,000| 7,500 | 5,000 | - (i) SREE AEr
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